>
A & 0l & AF 2 E A A
20198 & =0l &k LBHSIH MOtS 221t
£AM: Mots22
H: MOIS2S 24T A /LBEHEH)
oo BoesSed |4 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
MOHS 2t 2 0t 10,072,609 11,228,115 A 1,155,506
=2 192,982
s 1,270,000
J| 414,928
= 553,923
Al 7,640,776
MOIS2s 243 (LZ S F /Lot ) 639,360 916,060 A 276,700
< 28,364
Al 610,996
2USHA sS4 639,360 916,060 A 276,700
< 28,364
Al 610,996
=22sHHd 2SN 28,900 22,000 6,900
201 et 27,900 21,100 6,800
01 At 22l 22,400 17,400 5,000
O=&Jl & Jt2J] A 2,000
— MO e 4,000& = 50004 2,000
OJ2I|120I00 HHbl 30,0003 = 40074 2~ 12,000
O=tlzs 22= M 2,200
—Ro= 100& * 2& « 2,5000H 500
— 89 60,000& = 5& « 33 900
—8B2= 1,000& * 45 = 20004 800
OMOIZ 432 FY(MOISET S)
20,000& = 15004 3,000
Oglztol EFEI M 80,000& = 404 3,200
02 =224l 5,500 3,700 1,800
OMOI=Ssl 2 A2etMESIHl  100,0008 * 13 100
OMOISa & A=l 200,000& = 53| 1,000
OMOISal 2 =Xl 4,200,000 = 14l 4,200
OMOtSsl2t )| et EH =22
100,000& =+ 23l 200
405 TtabF S| 1,000 0 1,000
01 AL EFFHSHI 1,000 0 1,000
OdtE2AH&IIE2sl AtRa EII+Y 1,000
—ARSHY 750,000& = 104 750
— AR E T 250,000& = 104 250
=U2sHH WS 63,130 61,330 1,800
301 YstE A 63,130 61,330 1,800
09 #HALAHIZ &S 63,130 61,330 1,800
OMOISXEXCHE &A X Kbl
90,0003 = 27H = 43| 9,720
OMOIS XIS XCHE H =0 |
90,000 * 6 * 9 * 23] 9,720




SN MOFS 22D
FM: NMOIS2sS 4 (L3 8T /durd )
o9 BURSHA S4 (B9 ®R)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OI2U2HH Mol £ nssEA ol
90,000& = 9% =« 23| 1,620
OZ0I2sstoigy &4 ol
90,000& = 9% « 13| 810
otHtzAall2sads =2Us I+ ol
90,0003 = 30 » 1« 2,700
OHIZAHAII2s sMHs AdAUE FIt o]
90,000& = 30 = 13l 2,700
OotHt2AalI2s d=20LUHa &4 ol
90,0003 = 30 » 1« 2,700
OHIEZNAII2S ZASZOLHE &b ot
90,000& = 30 » 1« 2,700
OHIZAAII2s BEUz 4 0ol
90,0003 = 30 » 1« 2,700
OMOIZ2XEX Jl2nd 8,440
— 04l 90,000& = 369H 3,240
— W =H| 130,000& * 409 5,200
OXESAL 2tel utd 4,820
— ol 90,000& = 18H » 1« 1,620
— W=l 160,000& » 20Y¥ 3,200
OMOIS XS A 2l XS 2,410
— Ol 90,000 = 9% « 1 810
— W=l 160,000& * 10 1,600
O=EMNEst2sE 1,250
— 04l 90,000& = 5H 450
— W =H| 160,000& * 5% 800
OMEE IJIRE IIBN= 1,250
— 0ol 90,000& = 59H 450
— W=l 160,000& * 5% 800
OMOtE E23E 2,410
— Ol 90,000& * 94 810
— W=l 160,000& * 10¥ 1,600
ODNuwHM EHHNH 1,250
— 04l 90,000& = 5H 450
— W =H| 160,000& * 5H 800
O=std E8+=#HE 1,250
— 0ol 90,000& * 59H 450
— W=l 160,000& * 5% 800
OEQHESE (b 90,000&  13H 1,170
O&delda gt oyl 90,000&  13H 1,170
OdsS=2sto&E g ol 90,000& = 13H 1,170
O21C MOtS 2Alg2r odHl 90,000 = 13Y 1,170
=202 AL XA 278,000 243,200 34,800
307 21201 A 278,000 243,200 34,800




£AM: Mots22
Hu: MOISSS ZASHUUDDYT/AUHE)
©e: 2pesHH 54 (er:@e)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 163,000 166,200 A 3,200
OMOtSZSSAH gde8s X
4,000,000& = 14 4,000
ORogo A XN (EXE 90%)
5,000,000& = 14 5,000
OMOISEHH 328 NI (EZS 90%)
4,000,000& = 14 4,000
OLETHN WEANE XNIAL(EZS 90%)
2,000,000& = 13l 2,000
O=2U2SEH Green City Z&AEY
4,000,000& = 3OHEHA 12,000
OMDOIS A O0t3tOI0l XI& ALY
8,000,000& =« 14 8,000
OArg el BDH™M=FI| XNEAL(EZES 90%)
5,000,000& = 14 5,000
OAEe Z& EI=FI K&
10,000,000& * 14! * 80/100 8,000
OSH¥E MOotsdd s#3Zdstgs s XN (E
2 90%) 62,700,000& * 14l 62,700
OMOtSnSSMH 2SXH
3,000,000& = 14 3,000
OtlEAHAII2s 29Hs XA (EZES 90%)
4,000,000& = 14 4,000
OHIZAAII2s =RUs 23 N
10,000,000& * 14! * 80/100 8,000
OHt2H SN=ALEARJE X
2,500,000& = 141 = 80/100 2,000
Otz H&s sAzs XML (28 80%
) 3,000,000& = 14 3,000
Ott2AAIIgos I EHEZ S NA(E2x8
90%) 32,300,000& * 14 32,300
03 BIAHMNHE2IHIELS 115,000 77,000 38,000
OZ=AIMOISE 2ZH(Ex8 FH)
90,000,000& =« 14 90,000
Ott2AHdII2SI=AEAS 2LH(EXE
Ho) 25,000,000& =« 14 25,000
=02 HH AKX 18,400 17,600 800
307 21201 A 18,400 17,600 800
04 DIZHHALALSE E X 18,400 17,600 800
OMOIE H2&E#IUs XA
3,000,000& = 14 3,000
OMOIEXEX =3U3s XNA(EXE 80%)
8,800,000& = 14 8,800
OtHt2A &I s =&s XA
6,250,000& = 141 = 80/100 5,000
O=o=N U X
2,000,000& = 141 = 80/100 1,600




EX: MOtsS22 1
Hu: MOISSS ZASHUUDDYT/AUHE)
©e: 2pesHH 54 (er:@e)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
(£)21C MiOlses 43t 69,880 84,530 A 14,650
== 23,364
Al 46,516
301 LBt A= 12,000 15,000 A 3,000
o= 6,000
Al 6,000
02 Zet=2dex=2 12,000 15,000 A 3,000
OMOISXNEXRAEH &2 X
1,000,000& * 12& 12,000
& 6,000
Al 6,000
307 2Iz2t0| & 57,880 69,530 A 11,650
= 17,364
Al 40,516
02 QI AAIE E X 57,880 69,530 A 11,650
OMOlses =8 89 &
31,000,000& = 14! 31,000
& 9,300
Al 21,700
odi=EstEaXel HEIIAY
19,200,000& = 14 19,200
&< 5,760
Al 13,440
OB 0 SAMESAIY 7,680,000& = 1Al 7,680
& 2,304
Al 5,376
MOIS2S MAHSHAY 164,400 164,400 0
301 et A= 14,400 14,400 0
06 212to1 =22/ 04 HI 14,400 14,400 0
ONOIE2=2s 23 838 AtY
800,000 ~ 18H 14,400
306 52 150,000 150,000 0
01 52 150,000 150,000 0
OdH2l MOIE AgOIE =4
150,000,000 * 14! 150,000
(S)HI2AHADI2s 45t 16,650 0 16,650
& 5,000
Al 11,650
307 2iz2to| A 16,650 0 16,650
= 5,000
Al 11,650
02 QIZ2FA AAIE E X 16,650 0 16,650
Otz AHalies g4dst =8 29 N
10,000,000 =14l 10,000
& 3,000
Al 7,000




£AM: Mots22
H: MOIS2S 24T A /LBEHEH)
oo BoesSed |4 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OHIZAHAI 2 AHUEMHE =3 W=
1,650,000 * 14 1,650
= 500
Al 1,150
OttzANalI2s Fda s 8435
5,000,000& = 14 5,000
< 1,500
Al 3,500
NESAHMH 2 (L3 SS#T /Lot ) 347,108 331,542 15,566
= 31,564
< 28,815
Al 286,729
NG SAHHE2Y 347,108 331,542 15,566
= 31,564
< 28,815
Al 286,729
N SAE LS 38,290 26,120 12,170
301 LA Z 7,200 6,120 1,080
09 A HIE &S 7,200 6,120 1,080
ONJASALA g Ol
90,0003 = 409H » 1& 3,600
O3 SA E43tE 8 35 &4 0l
90,0003 = 5F » 2& » 23 1,800
OXNESA 2432 I8 &ga 4 0l
90,000& = 10Y¥ * 1 = 23] 1,800
307 21201 A 21,000 20,000 1,000
02 QAFAAFEX 21,000 20,000 1,000
OX&SA Dt XNHE XI&
4,000,000& = 14| 4,000
OXNESAt BE2SAH SAES X2
8,000,000& = 14 8,000
ONJASALEE AAX &2 5 K&
4,000,000& = 14| 4,000
OXE S A O3HOIOI XI &AM
5,000,000& = 14 5,000
405 Xt&tE SHI 10,090 0 10,090
01 AL EFH S 10,090 0 10,090
OXNESAHEH 224 7 10,090
— 2o My 250,000& = 2504 6,250
—Z2Tt 64,0003 = 60H 3,840
&S AR S 12,000 12,000 0
307 21201 A 12,000 12,000 0
04 DIZHHALALSE E X 12,000 12,000 0
OZ=Al NHJASAX 3l X2
12,000,000& * 13l 12,000

_5_




2N

o NRASACEH 2 (LTI /L)
&S HFSAUEH2E (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
(W= S8 NASAMEE It MEIA & 7,878 7,836 42
= 3,939
< 1,182
Al 2,757
307 gl2tol & 7,878 7,836 42
= 3,939
< 1,182
Al 2,757
02 (It HAMHEE 7,878 7,836 42
OAMZ A SAEEH XAJASALA 282 &
7,878,000& = 14 7,878
= 3,939
S 1,182
Al 2,757
()X ESAF ZCOUOIH X - =4 55,250 46,896 8,354
= 27,625
< 8,288
Al 19,337
307 gl2tol & 55,250 46,896 8,354
= 27,625
< 8,288
Al 19,337
02 IZtE M AHE L 55,250 46,896 8,354
OANZXASALME 2CIUIOIH XA
55,250,000& = 14 55,250
= 27,625
S 8,288
Al 19,337
(SIS SAEEH2Z 233,690 238,690 A5,000
< 19,345
Al 214,345
307 glz2tol & 233,690 238,690 A5,000
< 19,345
Al 214,345
02 It HAHE L 8,690 8,690 0
OXEE NASAZZIY 29 X2
8,690,000& = 14 8,690
< 4,345
Al 4,345
05 BIZHRI & 3 225,000 230,000 A5,000
OANZTHEASAMUE 23 XI&
225,000,000& * 14 225,000
< 15,000
Al 210,000
Aoisd 2e(B#AES/AA) 55,132 54,894 238
HeEd 28 55,132 54,894 238
NHES sk 32,830 37,730 A 4,900
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EX: MOtsS22 1
M BEAY R4 (SHUDY/B)
Sl BEER U BN CERED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
301 Lt A= 315,000 330,050 A 15,050
J| 47,250
& 47,250
Al 220,500
09 SHAIAHI E A2 315,000 330,050 A 15,050
O2st&Zl&E Al E=Hl X
315,000,000& = 1A 315,000
J| 47,250
& 47,250
Al 220,500
SREUSSAHA 2ZM4ENY £ 2s0HAE 50,000 50,000 0
308 AXIEHSOIA 50,000 50,000 0
07 XSRS 2 50,000 50,000 0
OZTRUESAA 2ZASIHY & 2S0HAHE
50,000,000& * 14! 50,000
(Z)ZAIZEYM2 EAIY =& 30,000 24,000 6,000
o 10,000
Al 20,000
308 XX SHHSOIH 30,000 0 30,000
& 10,000
Al 20,000
07 NIXSHHM2AREES S 30,000 0 30,000
OZ==9a PRAUSHIS 2ZE 22 A
30,000,000& = 14! 30,000
= 10,000
Al 20,000
(R)2st22HEA SH(SHMAAY) 17,851 25,350 AT,499
J| 2,678
o 2,678
Al 12,495
201 et 3,500 3,300 200
J| 525
= 525
Al 2,450
02 3%l 3,500 3,300 200
Ot ZHE A MHEE S
3,500,000& = 1A 3,500
J| 525
o 525
Al 2,450
301 et A= 14,351 22,050 ANT,699
J| 2,153
= 2,153
Al 10,045
09 HAIAHI B A2 14,351 22,050 AT ,699




£AM: Mots22
HE: BB RN (SHUBY/2Y)
Sl RPES U NENY EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O2st2 2ol & At E3MEAY
14,351,000& * 14 14,351
J| 2,153
< 2,153
Al 10,045
HFETHHLE 7,160 7,160 0
301 et d = 7,160 7,160 0
09 SALAHIEA S 7,160 7,160 0
o2 5,000
— At g+ & BIXI0r2 3,600,0008 * 14 3,600
— WY 24 20,000& = 359 « 23] 1,400
OZE2aA =200 6Hl 24
90,000& = 38 = 2 « 43| 2,160
M HMALX R 25,000 25,000 0
201 Ler24E] 10,000 10,000 0
01 At 22l 10,000 10,000 0
O=ZEX HH22H JIES M
2,000& * 1& * 5,000 10,000
307 gl2tol & 15,000 15,000 0
04 DIZHHALAISE E X 15,000 15,000 0
O=Zgx sg&d A XIF  1,000,000& * 153 15,000
IS QLEXELEY 22 256,000 522,500 A 266,500
201 Let24E] 20,000 15,000 5,000
03 &Ar2 I 20,000 15,000 5,000
OYFSQEXWE =2 AW R
20,000,000 =« 13l 20,000
401 Al HIZ 2018 236,000 500,000 A 264,000
01 A& HI 234,560 496,400 A 261,840
OAFSQEAWE H2lE =5
200,000,000% * 99.28/100 198,560
OYFEEHTE SIS+
36,000,000& * 14 36,000
03 A& S THHI 1,440 3,600 A 2,160
OYESEULYR B2S 55
200,000,000 * 14l = 0.72/100 1,440
()E s AZTNH (KE) 500,000 400,000 100,000
J| 250,000
S 75,000
Al 175,000
401 Al HIZ 201 Y| 500,000 300,000 200,000
Jl| 250,000
< 75,000
Al 175,000




£AM: Mots22
HE: BB RN (SHUBY/2Y)
el RIZER U AENY (B9 ®R)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 A& HI 497,120 297,840 199,280
OHHIE(AME) 2ZTHIYAE SHE
200,000,000 = 14l * 99.28/100 198,560
| 99,280
< 29,784
Al 69,496
OAWMAT S 22 EYAL &X
200,000,000 = 14l * 99.28/100 198,560
| 99,280
< 29,784
Al 69,496
O&HIOI0IH e SEerEr &x
100,000,000& * 14 100,000
| 50,000
< 15,000
Al 35,000
03 AIE 2 0HHI 2,880 2,160 720
OHHIE(AHMY) 2ZTHAANE &S5
200,000,000 = 14 * 0.72/100 1,440
| 720
< 216
Al 504
OAAIIEE 2ZEHYAE EX
200,000,000& = 14] * 0.72/100 1,440
| 720
< 216
Al 504
(I =SSN SH(Z A 230,000 230,000 0
| 115,000
< 34,500
Al 80,500
307 glz2+ol & 105,000 105,000 0
| 52,500
< 15,750
Al 36,750
02 RIZHE MM E X 105,000 105,000 0
OSZSALL d&2de W=
35,000,000& * 14! 35,000
| 17,500
= 5,250
Al 12,250
O34 HHl &It 54 20,000,000& = 14l 20,000
J| 10,000
< 3,000
Al 7,000
O=tZAISN d&2st =
50,000,000& = 14 50,000
| 25,000
< 7,500
Al 17,500




EX: MOtsS22 1
HE: BB RN (SHUBY/2Y)
Sl BEER U BN CERED
L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
308 XHXIEHSO|A 125,000 125,000 0
J| 62,500
& 18,750
Al 43,750
10 212 SUHUSHEAXEAE AT Y| 125,000 125,000 0
OKAHIOI0F)| 8 A 2AZIHAAY
100,000,000 * 14! 100,000
J| 50,000
& 15,000
Al 35,000
OXAHIOIOHE AE AMNBEHHA 29
10,000,000& = 14 10,000
J| 5,000
& 1,500
Al 3,500
OH&HI0l0oF)| e 22 I =
5,000,000& = 1Al 5,000
J| 2,500
& 750
Al 1,750
OHAH|ol0oI]HE S&tole XIEN M
10,000,000& = 1A 10,000
J| 5,000
& 1,500
Al 3,500
(E)SUAD NASA AZHY L XN 57,000 0 57,000
& 17,000
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307 2iz2to| & 57,000 0 57,000
& 17,000
Al 40,000
02 QIZ2IA AAIE E X 57,000 0 57,000
ORUARD HAHSA 22AE Y 2 29
57,000,000 * 14! 57,000
& 17,000
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ANeEsH 4 & &2 1,330,000 387,800 942,200
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01 AP 2t 2| bl 12,000 12,000 0
OFH&H =2 22X M
1,500 = 4,0008 = 23| 12,000
301 et A= 3,000 5,800 A 2,800
09 HAIAHI BEAZ 3,000 5,800 A 2,800
OZH ¥ 22 SLHA 20
250,0009 * 4% « 33| 3,000
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NARLD2SSHE X 230,000 230,000 0

307 gl2tol & 230,000 230,000 0
02 It M AHE L 230,000 230,000 0
OMASuEssd NA(Bxs HNH)
230,000,000& * 12l 230,000
ZEIE=ZINAULAEHAA 900,000 0 900,000
307 Qiz2tol & 900,000 0 900,000
04 DIZHHALALSE E X 900,000 0 900,000
OZ=ZJAMEM(EZE 90%)
900,000,000& * 14 900,000
FF=LHRANE S 100,000 100,000 0
307 212+0| & 100,000 100,000 0
02 QB AANGFEX 100,000 100,000 0
O&Hl |RXZ M& 2 100,000,0008 * 12 100,000
aeE3H 40,000 40,000 0
307 21201 A 40,000 40,000 0
04 DIZHHALALSE E X 40,000 40,000 0
OuZAHG0 HESH 40,000,000& * 14l 40,000
OtOtZ=OEHE 2 AT S 20,000 0 20,000
307 012+0I & 20,000 0 20,000
04 DIZHHALALSE E X 20,000 0 20,000
O&= OIDIFOEHE FAU S
20,000,000& =« 14 20,000
S 2ZAN B2H 25,000 0 25,000
307 21201 A 25,000 0 25,000
02 IZtE S AIHE L 25,000 0 25,000
O 2ZX ALY S2E(BEXZE 90%)
25,000,000& = 14 25,000
S22 1,520,000 800,000 720,000
=22 TE 249 XA 530,000 300,000 230,000
207 A RO 10,000 0 10,000
01 89 10,000 0 10,000
OYZSSBBWES FHAX B}
10,000,000 * 14! 10,000
306 =93 520,000 300,000 220,000
01 &3 520,000 300,000 220,000
OZ==st22THE 2  520,000,000& = 14 520,000
I LU 2SI 600,000 500,000 100,000
307 21201 A 600,000 500,000 100,000
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5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 600,000 500,000 100,000
OZ=s=246HIEs=H  600,000,000& » 13 600,000
=REAURCEHMAA 50,000 0 50,000
307 glz2tol & 50,000 0 50,000
04 QIZFHALAIH B = 50,000 0 50,000
OZ=2H2URCel=H 50,000,000& * 1= 50,000
=AM ZH KA 90,000 0 90,000
307 21201 A 90,000 0 90,000
04 QIZFHALAIH B & 90,000 0 90,000
OZFAMAEHER 90,000,000& = 13l 90,000
SEAMLEH XA 250,000 0 250,000
307 gl2tol & 250,000 0 250,000
04 DIZHHALALSE E X 250,000 0 250,000
OG = At =H 250,000,000& = 13l 250,000
AFAECLYSFI(2stL 2y /&) 40,000 14,000 26,000
FEAECLESAY 40,000 14,000 26,000
EAEC|EIAL L =N 40,000 14,000 26,000
307 gl2tol & 40,000 0 40,000
02 PIZHEHAHE L 40,000 0 40,000
OMASE(REEANAERIZZ2 L It
40,000,000& = 14 40,000
ZZTUIAMNL (2L 2 a/22) 3,470,330 5,456, 184 A 1,985,854
s 1,270,000
< 254,600
Al 1,945,730
PHEH = A 2b 2 XHE O & 43,630 63,560 A 19,930
AUATIEZ B2 LAY 22,630 62,560 239,930
201 et 7,630 7,560 70
01 At 2teltl 5,230 5,160 70
OAMAXEZ EHOIX 22l
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OASAY SBTET MASIRE RS
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80,000& = 12& 960
O&sx #EA 12,000& = 40m" = 30H A& 1,440
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201 gBt24y| 1,000 1,000 0
02 =224 H| 1,000 1,000 0
Ost=2MEfstE HASH| 1,000,000& = 14! 1,000
ABHATIE A HAEGIRA 22| 20,000 0 20,000
401 AlEHIZL 2 0HY| 20,000 0 20,000
01 Al&H| 19,784 0 19,784
OAMATIEY HAESHSA A&RE
20,000,000 = 14! %= 98.92/100 19,784
03 AlE 21| 216 0 216
OABATIEZ HAEGISA A2
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2+ X Of e 2,700 2,000,000 A 1,997,300
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OME =22 TR SFAI Al & 22|
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2ot2Z2HANL SHFA= 14,000 0 14,000
201 Let49] 4,000 0 4,000
01 At 22l 4,000 0 4,000
OZHTZ ANT Z2H AMSH 29 S
2,000,000& = 14 2,000
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el JI=23Hl

SA-EB B (BH) - MRAY - B 0 4t 04 il
01 AFR2 22l Yl 23,616 23,616
OsAIEX F¢ 15,000& * 192t A x 128 3,420
OSZ20HAldl 7,000& * 64! x 194 * 123 9,576
Odbte= 100,000& * 128 1,200
OALFAR =AY 50,000& = 12& 600
O =464 7,680
— 2A #2(AE) 500,000& = 1CH 500
— T2l %2 100,000 * 4CH = 50/100 200
— S A EY 200,000& = 53] = 104 1,000
— D2 EU(E8) 200,0008 » 53 * 404 4,000
— Z2E EU(Ze2H) 200,000& * 53 « 104 1,000
—PC =2l 100,000€ * 19CH = 20/100 380
— JIEt =2ly| 50,000& = 12& 600
OJIEF AFR 22| 5,000& * 199  12& 1,140
202 (4] 78,660 78,660
01 2L Y| 78,660 78,660
[@)¢: 1] 78,660
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